If | countin 2s
will | get to 25?

If | countin 2s
will I get to 987

If | countin 10s
will 1 get to 1007

If | countin 2s
will 1 get to 777

If | count in 5s
will I get to 257

If | count in 10s
will I get to 257

If | countin 2s
will | get to 847

If | count in 5s
will | get to 70?

If | countin 2s
will | get to 527

If | countin 10s
will I get to 807

If | count in 10s
will | get to 757

If | count in 5s
will | get to 557

If | count in 5s
will 1 get to 1007

If | count in 10s
will I get to 707

If | countin 2s
will | get to 35?7

If | countin 2s
will | get to 807



